EARAZROREIERT — 2 N— XBISY —F 2021538248 (k) 18EIE%I6H

Ll ) || B REERYR C3 7% —MK ‘ (XM&] W ‘ (] — | 4 (®) 13000 &
[A&4£] 1 7% :500,000 ™ ~ 23%&:175,000  ~ 3 #&:100,000 @ ~ 4 3#&:75,000H . 5 & :50,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N 4 | WEBX 1:24. 1-1-1- . — EliEEE (BH)
i laliol s rnLan R Rk 2 R S | mumE
L:8—MIKRYI B:Eai—-<h7z HET77— L
S5 HhERfA 1:26.2 2-2-2- 5] — AR (Z5)
2 g|NFTUE=ITY s a (66) S e 2 ‘22;5 ) H—2r7
RA—TRA A BHIITY paiutie
LR i o4 | ABRKRE 1:26.2 3-3-3-4 | 40.4| — 1 461 | BEBRIEX (BE)
3|89 ¥~k 6.0 (F) o | EEER
R:F4—TA4>N7 b B:LTF12aT7> FHBSE
- > 7 | HREE—H 1:26.5 4-4-4-2 | 40.6| — 5 463 | TEEEE] (&)
s 4| 777 77| .0 (1 1/2) (-1) |BEAEE]
LR LT A -G —K—F B:JTTIT— BHE A
s N —: 2 4 | BABK 1:26. —6-6- X — Bax##H (SH)
511 |>¥7>717— g 56.0‘( (26)9 6665 | 40.9 4 ?(1”2 *Zgyg =

L:IET7xA47 B:514572 J=YrTrp—L

- e 43 =R : 55— = MBI (B
6l7ls A N—HILEA L 4 4 s (12.217/.24) 5-5-5-6 | 41.5 6 (5_010) /J\%%j(( )
L:70F—-v BNFI1—> R77—L4L
N . AN ERE : —7-7- — HeE= (B
7 3| RU—tTva o6 | ARE 1.(217>.6 7-7-1-7 | 40.9 10 zzg; »#’;gfuﬂz( )
L:ig— MLEYIL BEAYESRET R 79577 — I
. PR > A ; -9-8- — HefE— (B
8 o | /—TNTROY 2l (;gfo;fs) 9-9-8-8 | 41.5 9 (4_315) é;gﬂ( )
:aA>7FaMvy b BiaA=—FEFN ILIL, Y4 T7—L4
— N . N A . ~10-9— — |eE (5
9l7| 7| FA T =5 6 fsr"g%o 1(/3%3 10-10-9-9 | 41.4 8 :1:;27) i’féﬁl*ui( )
RN—5—y 7 B:dy bH—H BRiAYRS
. % FLEBK = = = = FFRA (SH)
wlsl5| 7anFE =101 L50 (i) & [ g p v
L:Nd BIE—~NTE— BEHS
@ 1 —F—@EBIEf
1T=7r= 10,6,9,4,8,1,3,5,2,7
20—F+— 10,6,9,4,8,1,3,5,2,7
== 10,6,9,4,8,1,3,2,7
43—+ — 10,4,6,9,1,8,3,2,7
[ /N
B 10 410M 714K 6-10 190 B 6-8 200 JEE 6-9-10 360F
B B 10 120M4 9-10 160M B & 6-10 400M 3B 10-6-9 2,570
6 1004 6-9 170H B E 10-6 1,060M
9 100

ARICOVWTRDTEEERROODE. TR LI,



